Mental Arithmetic 5 Answers ' SECTION 2 | Test 4

Schofield & Sims

1 The price of a 32p packet of sweets is 1 (Ax9)= 1 Ajug holds 750mL How many ml does
. increased by 25%. What is the new price? 400 - 0.09 it hold when it is % full?
L 9 - = oR
20 (7% 109+ (5% 109+ (3x 100 = 09-0 e B o .
3 — Find the total cost 3 15pxd=f 060 2 Theinterior anglgs of triangles
3 px10=£160= e HBR Funtair for two adults and : : e A, B and C are given. Name each
= admission: £4.20 1 o chiidren, £17.50 4 3694-5= 738 ¢ 4 of these triangles by its sides.
i 54T7x3-2= 24 children: half price ' T ) e
"i" X - - .5 3 012 = % a triangEe A 60° 60° 60° |
5 1.36+8= SR Y 3 The length of a garage is 5m. The overall : £0125= % b triangle B 80° 80° 20°
: length of a car is 4445mm. By how many i triangle C  30° 60° 90°
6 (Ax96)+(6x96)= e 50 millimetres is the garage longer than 6 21— ml=1.260l
7 e
the car? S — L L7 1 ot 360° = ~gse 3 Carparking costs $4.00 per hour. How

7 360°-(145°+ 557 = much dosas it cost to park for 3h 15min?  $13.00

_ 3 L .4 Claire is employed for 36 hours from 8 Mm% mm= . m . 10%0m
'8 31250ml-al= | - o 28l Monday to Friday (inclusive). Find in .4 Round each of these numbers to the
' . hours and minutes the mean time : 9 three 50ps + = 5ps=£3.00-£1.25 - =1+ S nearest whole number and then find the
29 3.593 + 0.407 = S An h h dav. 7 2mi :
she works each day D 12N 10 1133am 10127 pm. = homin  h  S4min Iapprowmate total.
_ _ 2 ‘ , ; 5109 65 449 273
10 80% of 400 = .. 320 5 From a gift of £10, Ahmed received i1 0.3x05= R 5 & | S
s 5 £3.70. His three friends shared the : . a2 \ _
M F$+5= g remainder equally. How much did 12 Find avofs as 5 /x’\“'"’”“‘? The diagram shows
’ . each friend receive? f£250 b Lofa b /Q\ oot how the children voted
12 Subtract 12 from 7. Sy 8 ' ot A ootbal 4 for their favourite sport.
& A packet of weed-killer will treat 100m? - g?g:eae\rﬁgéage of the
| of lawn. How many packets are needed ! o
3 1o treat a square lawn with 20msides? ... 4 a swimming a_ . %%
s What por than 99 5997 106600 1 How much is left when £1.67 is b eveling? b o
ai numper Is one more than / 3k y "7 cycling: 2R
B 11} £AEL0 18 7 NS Two of the subtracted from £2.457 £0.78 ycling . %
12 By how many seconds is 70s less - — angles in 3 Write as a decimal fraction. 6 If 200 children voted, how many more
than Tomin? 5¢ triangle y 60° 60° each of the X age 1 voted for football than for cricket? e 75
triangle 7 90° 57° . ° friangles x, ~ro ae. A ;
3 700micost £0.91. Find the cost per litre.  £1.30 1 and z are given. % = bs " - Y:Qacsr];rjr;twlcgrnegie
Find the third angle for each triangle. Zo 237 . ) £ the dircle s th
4 The length of a rectangle is 15cm _ 3 Write the volume in cm? of a bucket orthe drcleisthe
and its perimeter is 46cm. Find . ) which holds 2.250L. o 225003 arc AB? IS
8 Amap is drawn to a scale of Tcm to Tkm. . 3
a the width a S Find the distance in kilometres represented 4 Find the difference between 100% b 1f ﬂle angle a2t4t0hf
ine 4 _ i 7 : - centre were g
b the area. b 120cm? by a line 42mm long e A2k of £5.00 and 1% of £5.00. £49%5 wwhat fraction of
‘ . . . _ 5 ‘What number is cne thousand less ihe drcumference
5 Write Tmim of 2m as a fraction. (9 F={16,4, = ,1,64,2 -} than 8000007 - would be itsarc? b <
_ o F = the set of factors of 64. T ;
6 Divide the total of £1.17 and £0.28 by 5. £0.29 . Find the missing factors. 3 - a2 6 10 Ioliies cost £4.50. Find the cost of 8 Eight lengths each measuring 2m 40cm
_— 4 5 one a s5p are cut from a 20m roll. What length
i Axy=4y a _A4Ep ; : 3
' yEw . 10 Which triangle, A or B, has the , . b £3c in cm remains? i Bcm
Find the value of y when 4y = 14. B2 reater area and by how many cm?? A b 3cm? - Seven. B ’
. 9 4 y e L ‘ 9 Find the product of one-half and _ #
‘8 Approximate 7 How many times can 300ml be taken two-thirds and write the fraction ;
. . from 617 e 20 in its simplest form. .
a 9493g to the nearest kilogram a kg * _ . S
1 305426 to the nearest 10000. b 210000 B 8 Which two CDI’IE;QCUUVE numbers have 10 In afreestyle swimming competition, Kai
. T T P —————————| ", a pl’OdUC't Of.72- S 8o swam 200m in 1min 54.3s. How many
: ; : 8cm . | . e Hrad o
1B ngritedas a decimal the sum of 5, 9 . How many days inclusive from secands less ,than 2min was hIS.tlme. e U PY 4
30 @nd g B Tu I . ' 9 EL . , '
oomn 11 of water has the same volume as . 14 December to 17 January? . el 11 The diagram shqws the distances _
10 What percentage is 6cm of 2m? - I 1000cm?®. What are the volumes in cm?® of 10 Divide £5.00 by 9 to the nearest penny. B 56p between four f”er_‘ds_’ homgs.' How many
) : I metres is it from Sita’s to Ellie’s?: _ o AThm
A1 W{ite the next two numbers: a 200ml a.......28hm’ ‘1 A B ABCDIs a ) 5kfﬁ o
In this sequence. b 1.70 b 17C0cm? /12 Y/ parallelogram. 4 o 0 :
s 221 2 Z Find in degrees S w— e - |
100 5: 10¢ 54 2, iy, 5 1 ) : . o0 0.75km . . 1 24k
. 12 A map s drawn to a scale of cm o Tkm. : ot . *e LX LX 130 pee Bl ene josn?
.W”te ‘EZSmLtO 1l as : E)(DresS th|S Sca‘e : and Ly Ly P
. 5 .
R AP TR TR i : T 12 The populgtion of a town of .5 millicn
-aa fraction'in its simplest form 3 i {60055 . :
b P 8.3 —— 2 as a fraction a._ 160000 12 20% of a sum of money is 850, - fell by 50000. What was the percentage
ba dEC_.I.l‘_Tj.a|._fn.':1c.t.1Qr],_ - b 0325 b as a ratio. b l1opoon : What is the whole amount? EE25 fall in papuiation? e 10 %
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